ASSY SUB BASE CABI (RCS-1150)

901

(WO-JOX]G'L+ EW

38 01 3NOHOL ONINILSYH 1NN 1108 'M3HIS

79



ASSY SUB BASE CABI (RCS-1150)

ITEM NO. PART NO. DESCRIPTION

1 RCS-1151 PTV BASE

2 ASK-1152 LOCK BRKT

3 105-5340-01 FAN BRKT LONG

4 253-5460-01 AIR VENT BLACK

5 ARC-1006 LEG BRACKET

6 117-5191 PLATE

8 601-5699X LEG ADJUSTER BOLT M16X75
101 260-0056 AXIAL FLOW FAN AC 115V 50-60Hz
102 601-8543 FAN GUARD
103 601-9377 CASTER FAI-75
106 117-5402-06 EARTH TERMINAL PLATE
201 000-P00416-W M SCR PH W/FS M4X16
202 000-T00416-0B M SCR TH BLK M4X16
203 011-T03512 TAP SCR TH 3.5X12
204 030-000630-SC HEX BLT W/S CRM M6X30
205 030-000630-SC HEX BLT W/S M6X30
206 060-F00600 FLT WSHR M6
207 011-F00310 TAP SCR FH 3X10
208 000-P00312-W M SCR PH W/FS M3X12
209 050-H01600 HEX NUT M16
210 011-F03512 TAP SCR FH 3.5X12

80



